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POLITICAL SCIENCE
( Major )
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Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

OprTION—C
( URBAN LOCAL GOVERNANCE )
1. Choose the correct answer : 1x7=7

W% Teqehl MR Sferea :

(a) The term ‘ocal government’ is used in
the Indian Constitution for the first time

n
SRR RS A BIPR’ URADT AT
J[I2E 91 =

(i) 1950 / S»ao TS
(i) 1947 | 5584 5%
(i) 1965 / Sdbe e
(iv) 1977 / 5514 5%

AQ/6T1 { Turn Over )



(2)

(b) The first Constitutional Municipal
Council was formed at Guwahati in

GRS A ARRGT (Farer oo+ C2fke

(i) 1887
S¥rq S

(ii) 1850
i Sbeo THO

(iii) 1852
e A9

(iv) 1855
Sree HHS
¢/ Who is the Head of Nagar Panchayat?
IR PR TR @ 2

(i) Secretary
foq

(i) Chief Executive Officer
1 errifa R

(ii) Minister of the State
Rk

(iv) Chairperson
LRI
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(3)

(d) The formation of the State Election
Commission is mandatory * for every ‘

State under which of the following
Articles?

T (D SR GRACS TAPES A
o=t s srt Farch1 ronpr w1 b 2
f) 243 (K)
(i) 243 (L)
(i) 243 (2)
(i) 243 (1)
fe) To form a Metropolitan Planning

Committee in a municipal area, the
minimum population should be

CMPTel ol «Bre TZFsR ARTSH oA
f¥ater fmey e s e 2

(i 15 lakh
se ANy

(i) 5 lakh
¢ N

(iii) 10 lakh
o =4

(iv)] 40 lakh
Bo =¥



0

(9)
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(4)

Which of the following is not a source of
income of urban municipalities?

SEY CFIFCH] AR 2P SRR B 777 2
(i) Grants-in-aid
TREF ST
(i) Borrowing
A
(iii) Taxation
P
(iv) Salary
|

How many standing committees are
there in the Guwahati Municipal
Corporation?

SO (MFeme Rm<m 2@ S sz
M7
9%
@ S
&L
(iii) 3
SATC
(iv) None
QYT R

( Continued )



(5) .

2. Answer the following questions briefly : 2x4=¢

O PR B ST fi

(a) State two recommendations of the Royal
Commission on Decentralization, 1907.

A BRI S, S»oa-q wB1 2|
TeEy 9 |

(b) State two discretionary functlons of
Municipal Corporation.

AR 701 W%WWW|

(c) Mention two objectives of the District-_
-Planning Committee.

e “tfRersen AT 01 Sowe o |
{d) What is mandamus?

RifEaee &9

3. Answer/Write short notes on any three of the
following : 5x3=15
e frar R e bR oy Soa fam/oy e
forar
{a) What were the features of Lord Ripon’s

recommendations?

o6 Refq o Caerm 7 12 |
(b) Rufa.l Urban Relationship Committee,

1963 | |

-9 o MM, Sdvo
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‘() What is the role of Executive Officer in
Nagar Panchayat?
e A S LS CUN SRR BRI
i 2

(d) Assam State Election Commission

w7 qifege R St

(e} Control of District Collector on Urban
Governance
L CE Ros CATLIICLICE REE

4. Discuss the need and importance of Urban
Local GetVernance in urban development. 10
5 VTS TR YA IR AETe] S SF
HRAA 41 |

Or / 911

Discuss the changes in Urban Local
Governance brought by the 74th Amendment
<« Act. 10

agey FOMAE IVAR T AN FAW PP
sifea=TZ, SCA 41 |

S. What are the basic requirements for the
formation of a Municipal Council? Discuss
the powers and functions of Municipal
Council. 2+8=10

TSl g M TR B B AR @R 2
CRTTOR HAS F IRTA AL 34T |

AILSTY { Continued )
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Or / g1

“Lord Ripon is called as the father of Local
Self-government of India.” Evaluate the
statement. 10

A R SRR T e e Pre 1
17 FARIRY 34fe] 1 74 |

6. Why is planning necessary for development?
Discuss the importance of local planning for

local development. . 2+8=10
SR A ARFER e R o TN Sawee
T AR 8FY T 37 |

Or / %3]

What are the various sources of income of
Municipal Governance? Mention the subjects
on which Guwahati Municipal Corporation
can impose ‘tax. 4+6=10

A e Rfm W Sormz R R sl
mﬁmwmﬁWwﬁwmwn
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OpPTION—D
( POLITICAL SOCIOLOGY—II )

1. Answer the following questions as directed :

1x7=7

ot fra 2eprea Fotr® Ted fm -

()

(b)

(c)

(d)

A9/671

Who first coined the term bureaucracy’?
TSR RO CRIC 2T AR AR 7
Revolution in society means persistence
of existing social order.
e Rdd oY TE e IS R
wofafse 941 |

~ ( State True or False )

(wF & T o)

Who is the author of the book, The Rise
and Fall of Elites?

The Rise and Fall of Elites J®4 R IR®
@FE?

Which of the following is not a type of
authority identified by Max Weber?
T @A TEY A R T QD] TP
AT

(i) Traditional

IS
(ii) Charismatic

afoesias

( Continued )



(9)

(iti) Prismatic
ferain

(iv) Legal-rational
RS- TS

( Choose the correct answer )

( ©m TBCo! AR Sfeqea )

(e) Give one example of mixed type of
Political culture.

fiffe IEtafes Teghed ab Trad |

(/ Mention one characteristic of army.

AN AR 9B IR ey 400

(g9 “The history of all hitherto existing
society is the history of class struggle.”
Who said this?

‘O ToreR Mferm @ @if-sige]
o7 1”7 G FAAR FRA (37>E 2

2. Answer the following questions briefly : 2x4=8

weTe gl PRI By Taq fran
(a) Mention two elements of political
culture. .
| EARee Aot Ho1 S SCEd A1
(b) Point out two mefits of bureaucracy.
SRS 701 8¢ TEY T4 |
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(¢ Mention two problems created by
revolution.

Rera 3R 31 1 70T SoE

(d) Write two major  problems of
modernization.

wiﬁﬁr««@wmwﬁm

3. Answer any three of the following questions :
5x3=15

wﬁqwﬁm%ﬁﬁmmﬁm:

(@) Write a note on ‘iron law of oligarchy’ as
propounded by Robert Michels.

A0 Fee Wﬁ:ﬁwmmﬁw
oo b1 Ol feram 1

(b) Explain the Marxian theory of political
change.

WWW@HWWWW1

(c) What do you understand by ‘circulation
of elite’? Discuss briefly.

““%‘ﬁmﬁﬂ%’{%ﬁgﬁﬁ{m?m
S #41 :

(d) Critically examine Lucian Pye’s theory
political development.
IEAST TR 1 RIP STaewm ¥ ou “AiRI
SR TGS 2R 39 |
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(e) Discuss briefly the relationship between
bureaucracy and society.

Wﬁawwwwwsﬁﬁ
ST 47 |

4. Answer the following questions : 10%x3=3(
O RN e i

(a) Critically evaluate the contributions of
Pareto and Mosca towards the
emergence of the elite theory. 1C
<l OF TERA CFAS (D F IR 7R
T P TGS o 4 |

Or / a_1

Examine the relevance of the ‘power
elite’ in society in the light of elite theory
explained by C. Wright Mills. 10
f5. 3120 fie @At o Rfte e o
IR “BTO[R (19’3 APIaFel 23w 41 |

(b) Discuss the nature and causes of
political change with focus on the
relevance of the concept of ‘Tegime
change’. 10
ST ST’ YR APRiiTeR @Te 8FY
oMM IR AT ARG a3 e
JRPR HCAO 1 |
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Or/ 941 .
What is revolution? Discuss the
different causes of revolution. 3+7=10
R B2 R Roa IRA FooE BTG
411

c) Discuss the nature of political
development. Explain the relationship
between political modernization and
political development. 4+6=10
e Smm A Rerm Al e
e 91| AEAres  WyfRPeT S
FEANSP PN A& 7o I 341 |

Or / Jq41

Explain Max Weber’s concept of
bureaucracy. Discuss the usefulness of
bureaucracy in a modern State. 4+6=10

T AR SIS T 4T 4! Wi
w1 &b S AES SwEeE Tl
o e AT | '

* & &
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